
x 4

0 1 2 3 4 5 6 7 8 9 10

0,5 1,5 2,5 3,5 4,5 5,5 6,5 7,5 8,5 9,5

3 x 35

M4 x 10

7 x 50 2,5 x 20

1/8

1

4 x 30

M8 x 20

M8 x 16

M6 x 35M6 x 40

M6 x 16

M4 x 25

6,3 x 13

A - 01 x (R + L) A - 02 x ( 14 st.) A - 03 x ( R + L) A - 04 x ( 6 st.) A - 05 x ( 2 st.) A - 06 x ( 6 st.) A - 07 x ( 6 st.)

A - 08 x ( 4 st.)

N - 01 x ( I st.) N - 02 x ( 4 st.) Z - 04 x ( 3 st.) Z - 03 x ( 2 st.) Z - 02 x ( 1 st.) Z - 01 x ( 1 st.)

K - 02 x ( 22 st.) K - 03 x ( 42 st.) K - 04 x ( 4 st.) K - 05 x ( 3 st.) K - 06 x ( 100 st.) K - 07 x ( 30 st.) K - 08 x ( 1 st.)

K - 09 x ( 1 st.) F - 01 x ( 28 st.) F - 02 x ( 16 st.) U - 01 x ( 1 st.)

U - 02 x ( 2 st.)

B - 01 x ( 4 st.) B - 02 x ( 2 st.) B - 03 x ( 4 st.)

(cm)

K - 02

K - 02

K - 02

K - 02

90x200 Pionowy/Vertikal/Vertical

Materac/Matratze/Mattress

H21 cm MAX !!!



�


�


�


�

�

�

���

�

�

�

�

�

�

�

�

�

�

�

	



�

�

	




�����	

������

������

������

�����	

�����	

�����	

������

�����	

�����	

�����	

������

������

������

������

������

������

������

�����



�����


����	


����	



�


�

	��

�

�

�

� �

�

�

�

�

�

	

�

�

�

	

�

�
�

�

�
�

�

	

	

�������������

������

������

������

������

������

������

������

������

������

������

������

�����	

������

������

������

������

�����	

�����	

�����	

�����	

�����	

������



�


�


�


�


�

� �

�


��










������

������

������

������

������

������

������

������
������

������

������

������

������

������

������

������

������



�


�


�


�

�

�

�

��

�

���������

���
��

��

�� ��

��

��

��

��

��

�����	

�����	

�����	

�����	

�����	

�����	

�����	

�����	

������

������

������

������

������

������

������

������

������
�����

������

����
����



�


�


�

�

���

������

������
������

������

������

������









x 4

0 1 2 3 4 5 6 7 8 9 10

0,5 1,5 2,5 3,5 4,5 5,5 6,5 7,5 8,5 9,5

3 x 35

M4 x 10

7 x 50 2,5 x 20

1/9

1

4 x 25

M8 x 20

M8 x 16

M6 x 35

M6 x 40

M6 x 16

M4 x 25

6,3 x 13

A - 01 x (R + L) A - 02 x ( 16 st.) A - 03 x ( R + L) A - 04 x ( 4 st.) A - 05 x ( 2 st.) A - 06 x ( 6 st.) A - 07 x ( 6 st.)

A - 08 x ( 4 st.)

N - 01 x ( I st.) N - 02 x ( 4 st.) Z - 04 x ( 3 st.) Z - 03 x ( 2 st.) Z - 02 x ( 1 st.) Z - 01 x ( 1 st.)

K - 02 x ( 22 st.) K - 03 x ( 42 st.) K - 04 x ( 4 st.) K - 05 x ( 3 st.) K - 06 x ( 110 st.) K - 07 x ( 35 st.) K - 08 x ( 1 st.)

K - 09 x ( 1 st.) F - 01 x ( 28 st.) F - 02 x ( 16 st.)

U - 01 x ( 2 st.)

U - 02 x ( 4 st.)B - 01 x ( 6 st.) B - 02 x ( 3 st.) B - 03 x ( 6 st.)

(cm)

K - 02

K - 02

K - 02

K - 02

F - 03 x ( 14 st.) F - 04 x ( 8 st.) F - 05 x ( 4 st.) F - 06 x ( 4 st.)

M8 x 205,4 x 32 4 x 16

120x200 Pionowy/Vertikal/Vertical

Materac/Matratze/Mattress

H21 cm MAX !!!



�


�


�


�

�

�

���

�

�

�

�

�

�

�

�

�

�

�

	



�

�

	




�����	

������

������

������

�����	

�����	

�����	

�����


�����	

�����	

�����	

�����


������

������

������

������

������

������

�����


������

�����	

�����	



�


�

	��

�

�

�

� �

�

�

�

�

�

	

�

�

�

	

�

�
�

�

�
�

�

	

	

�������������

������

������

������

������

������

������

������

������

������

������

������

�����	

������

������

������

������

�����	

�����	

�����	

�����	

�����	

�����


������������

������

�����	

�����	



�


�


�


�


�

� �

�


��










������

������

������

������

������

������

������

������

������

������

������

������

������

������

������

������

������



�


�


�
 �

�

�

�

���������

�

���

��

��

��

��

��

��

��

��

�����


�����	

�����	

�����	

�����	

�����	

�����	

�����	

������

������

������

������

�����	

������

������

������

������

�����

������

������

��

������

������

������



�


�


�

�

���

��

������

����
����

�����	

�����	

�����


������

�����


�

�

�



�


�


�

�

���

������

������������

�����


������

�����










x 4

0 1 2 3 4 5 6 7 8 9 10

0,5 1,5 2,5 3,5 4,5 5,5 6,5 7,5 8,5 9,5

3 x 35

M4 x 10

7 x 50 2,5 x 20

1/9

1

4 x 25

M8 x 20

M8 x 16

M6 x 35

M6 x 40

M6 x 16

M4 x 25

6,3 x 13

A - 01 x (R + L) A - 02 x ( 18 st.) A - 03 x ( R + L) A - 04 x ( 6 st.) A - 05 x ( 2 st.) A - 06 x ( 6 st.) A - 07 x ( 6 st.)

A - 08 x ( 4 st.)

N - 01 x ( I st.) N - 02 x ( 4 st.) Z - 04 x ( 3 st.) Z - 03 x ( 2 st.) Z - 02 x ( 1 st.) Z - 01 x ( 1 st.)

K - 02 x ( 22 st.) K - 03 x ( 46 st.) K - 04 x ( 4 st.) K - 05 x ( 5 st.) K - 06 x ( 120 st.) K - 07 x ( 40 st.) K - 08 x ( 1 st.)

K - 09 x ( 1 st.) F - 01 x ( 28 st.) F - 02 x ( 16 st.)

U - 01 x ( 2 st.)

U - 02 x ( 4 st.)B - 01 x ( 6 st.) B - 02 x ( 3 st.) B - 03 x ( 6 st.)

(cm)

K - 02

K - 02

K - 02

K - 02

F - 03 x ( 14 st.) F - 04 x ( 8 st.) F - 05 x ( 4 st.) F - 06 x ( 4 st.)

M8 x 205,4 x 32 4 x 16

140x200 Pionowy/Vertikal/Vertical

Materac/Matratze/Mattress

H21 cm MAX !!!



�


�


�


�

�

�

���

�

�

�

�

�

�

�

�

�

�

�

	



�

�

	




�����	

������

������

������

�����	

�����	

�����	

�����


�����	

�����	

�����	

�����


������

������

������

������

������

������

�����


������

�����	

�����	

������

������

�����	

�����	

�����	

�����	



�


�

	��

�

�

�

� �

�

�

�

�

�

	

�

�

�

	

�

�
�

�

�
�

�

	

	

�������������

������

������

������

������

������

������

������

������

������

������

������

�����	

������

������

������

������

�����	

�����	

�����	

�����	

�����	

�����


������������

������

�����	

�����	



�


�


�


�


�

� �

�


��










������

������

������

������

������

������

������

������
������

������

������

������

������

������

������

������

������



�


�


�
 �

�

�

�

���������

�

���

��

��

��

��

��

��

��

��

�����


�����	

�����	

�����	

�����	

�����	

�����	

�����	

������

������

������

������

�����	

������

������

������

������

�����

������

������

��

������

������

������



�


�


�

�

���

��

������

����
����

�����	

�����	

�����


������

�����


�

�

�



�


�


�

�

���

������

������
������

�����


������

�����










Szafa P
e - 001 (x12) e - 003 (x22)

e - 009 (x4)e - 017 (x16)

e - 300 "B" (x1)

e - 015 (x4)e - 016 (x8)

4x16

1/4
e - 221 (x12)

e - 322 (x4)

e - 300 "A" (x1)

e - 101 (x1)

e - 415 (x2)

3x25

e - 420 (x2)

3x16

 e - 221

 e - 017

 e - 009

 e - 003 

 e - 009

 e - 017

 e - 221

 e - 003 

P - 100 - 001

P - 100 - 002

 e - 001



2/4

P - 100 - 011

P 
- 1

00
 - 

00
1

 e - 003 

 e - 001 

 e - 003 

P - 100 - 021

 e - 221

P - 100 - 041

 e - 003 

 e - 001 

P - 100 - 016

P 
- 1

00
 - 

00
2

P 
- 1

00
 - 

50
1

P - 100 - 011

P - 100 - 021

P - 100 - 016

P - 100 - 041

P - 100 - 105

P - 100 - 105

P - 100 - 105

P - 100 - 105



3/4

"I" "II"

 e - 015 e - 016

 e - 322
 e - 322

 e - 415
 e - 300 (A)

 e - 415

 e - 300 (A)

P - 100 - 600

P 
- 1

00
 - 

60
0

P 
- 1

00
 - 

60
0



4/4

 e - 420

 e - 300 (B)
 e - 300 (B)

 e - 420



Szafa S

e - 001 (x38) e - 003 (x37)

e - 009 (x4)e - 035 (x4)

e - 300 "B" (x1)

e - 015 (x3)e - 016 (x6)

4x16

1/6

e - 221 (x38)

e - 322 (x3)

e - 063 (x12)

6,3x13

e - 300 "A" (x1)

e - 101 (x1)

e - 415 (x2)

3x25

e - 420 (x8)

3x16

 e - 221

 e - 009

 e - 003 

 e - 009

 e - 221

 e - 003 

S - 100 - 001 e - 001

e - 505 (x1)

 e - 221

 e - 221

e - 115 (x10)

2,5x20

e - 502 (x3) e - 515 (x1)

 e - 063

 e - 502

 e - 502
 e - 063

S - 100 - 002



2/6

S - 100 - 011

S 
- 1

00
 - 

00
1

 e - 003 

 e - 001 

 e - 003 

S - 100 - 021

 e - 221

S - 100 - 041

 e - 003 

 e - 001 S - 100 - 016

S 
- 1

00
 - 

00
2

S 
- 1

00
 - 

50
1

S - 100 - 011

S - 100 - 021

S - 100 - 016

S - 100 - 041

 e - 505 

 e - 035

 e - 003 

 e - 001 

S - 100 - 120

S - 100 - 120

S - 100 - 120



A = B !!!

A B

3/6

e - 502

e - 063

e - 502

e - 063

 e - 001

 e - 221

 e - 001

 e - 221

 e - 221  e - 001 

 e - 115

S - 100 - 704 S - 100 - 705

S - 100 - 710 S - 100 - 720

S - 100 - 810

S - 100 - 720
S - 100 - 704

S - 100 - 710
S - 100 - 705



4/6
S - 100 - 755

S - 100 - 780
S - 100 - 755

S - 100 - 780

 e - 221

 e - 003

 e - 001

 e - 515

 e - 420 



5/6

"I" "II"

 e - 015
 e - 016

 e - 322

 e - 322

 e - 415

 e - 300 (A)

 e - 415

 e - 300 (A)

S - 100 - 600

S 
- 1

00
 - 

60
0

S 
- 1

00
 - 

60
0



6/6

 e - 420

 e - 300 (B)
 e - 300 (B)

 e - 420



Szafa W
e - 001 (x12) e - 003 (x22)

e - 009 (x4)e - 035 (x4)

e - 300 "B" (x1)

e - 015 (x4)e - 016 (x8)

4x16

1/4
e - 221 (x12)

e - 322 (x4)

e - 300 "A" (x1)

e - 101 (x1)

e - 415 (x2)

3x25

e - 420 (x2)

3x16

 e - 221

 e - 009

 e - 003 

 e - 009

 e - 221

 e - 003 

W - 100 - 001

W - 100 - 002

 e - 001

e - 505 (x1)



2/4

P - 100 - 011

P 
- 1

00
 - 

00
1

 e - 003 

 e - 001 

 e - 003 

P - 100 - 021

 e - 221
P - 100 - 041

 e - 003 

 e - 001 P - 100 - 016

P 
- 1

00
 - 

00
2

P 
- 1

00
 - 

50
1

P - 100 - 011

P - 100 - 021

P - 100 - 016

P - 100 - 041

 e - 505 

 e - 035



3/4

"I" "II"

 e - 015 e - 016

 e - 322
 e - 322

 e - 415
 e - 300 (A)

 e - 415

 e - 300 (A)

P - 100 - 600

P 
- 1

00
 - 

60
0

P 
- 1

00
 - 

60
0



4/4

 e - 420

 e - 300 (B)
 e - 300 (B)

 e - 420


